Algebra 2B Final Exam Review Name:

Date:

1 Which equation models a transiation of the equation below 2 units right and 4 units down?

Flaypt = 25 + 4' dowy\

z
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(x—2)1+Ey+4) =25 (X-—l)1+ (\/7 1_(,”1.1 r_'z.
O

C (x+2°+ ) = 25

D -2+ (y-4)=2 +z -y =
iy -~
Find the period, range, and amplitude of the cosine n.

ym -g-cos% %’L Itte 2 =417 |
— i
@ pmod=4:;rmge—-<ys%amphtudga— i

_B—peried = -i. range: -%Sy < % arnpitude = -%

. 3 3 3
C perod = 45 range: -5 <y S 5 amph:.ude%

B perivd = % range: y £ % amplitude = E

What is the equation of the cosine function shown below?
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A y==2cos(8+ ) -2 r‘|
y-2cos(9--¥-r)-2
C y-—2cos(8+3—4’£)-—2
D y-2cos(6+37’r)-2 +\D -0
4 Suppose & is an arithmetic sequence with initial term a(0) = -1C and a common difference
f 10. Find 2(19 —
o ind a(19). a ,J'_(n__l)ol 'O}Q
A 180
B 170 O-l-(l‘ﬁﬂ\lo o,
c 1% O+ 1§(0)

O + 1«0



V. Wodle ou;%aees

Graph the system of equations. Find all scluticns if o° s x < 360°.
Y=cosx Y‘ N ) X'Ih\f\-' O .
(% 170, 343 Y-,_ = CoS(X) X-max: 30
730, 2670 —mins —I
C 7%,16% Y -min ,
D 17%, 107 ¥ max: (

Wheat is the equation in standard form of an ellipse that has a vertex at (-5, 0), 2 co~-vertax
at (0, 4), end is centered at the origin?

n »
@E’s’*ﬁ'l

@ Find the outlier in the dala set.
5 2, » . 68,46,6.7,0.4,6.2,4.8 ,3.7,3.1
16" 13
A 3.7
C ? + ,.T: =1 B 3.1
) xg );J @ 04
D T+35~1 D 68

Find the range and interguartile range of the data. Round {o the nearest tenth.
259, 125, 158, 168, 187, 334, 158

A range = 178; interquartile range = 72
B range = 209; interquartile range = 72

. range = 176, interquartile range = 101
range = 209; interquartile range = 101

Find the amplittide of the periccic function. 10 Soive the equation. Check the solution.
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B 3 11 Choose i .r the sequence. Then find the fifth term in the sequence.
c 7
D 1

@y = 120,r = 0.3 :

75 q| = \7/@

A 4, = 12003 02916
_’,B"’ g, = 03; 0.2916
C a@,=10-(03) 0872 = 03 | 2\

a, = 120 (@ 3p-1:




@ The sequence 15, 21, 27, 33, 39, ..., 75 has 11 terms. Evaluate the relaied series.
" ] 1 L)

420

é 485
C 210
480

@ Which explicit formula models the sequence 7, 2, -3, -8, —13, ...7 Find the following.
QH
&, = —=5n+ 12; =53
B a, = =52+7 _58
a, = =n+ 12. .58
a, = =5n+7 B3

14 Find the exact value of the sine of the angle given.

0
[‘53{ ‘ad‘a“‘]. ~4r KO - HY40
3 & COS
A 3 <, A K
B 43 \
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15 Find the period of the graph shown below. ,_\_rfi 30
72 1 Z2
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. I 47 16 ldent:fy the vertex, focus, and directrix of the graph of the equation.
! y= L (x D1+5

b 5 @ vertex (2, 5), focus (2, 7), directrix at y = 3
e 3. = —%I vertex (2, -5), focus (0, 7), directrix at y = -2
i = I
2

C  vertex (-2, -5), focus (0, 2), directrix at y = 2

C 3, D vertex (-2, 5), focus (2, -2), directrix at y = 3
D 4
17 Does the infinite geometric series diverge or converge? Expiain. L
1 1 1 1 = A
§+—lﬁ+-2_ﬁ+:ﬁ+"' (___’ J'_ ,g z
A ltdiverges; it has a sum. 0 9
B It diverges; it does not have a sum. ya \
It converges; it has a sum. \ r \ b\ﬂ*s 7
D It converges; it does not have a sum. S0

g =



{3 Find the values of the 30th and 80th persentiles of ihe ca'z.
18,9,7,5,11,7,17. 20, 19,2,17, 12, 5,1, 12 12 14,15, 18,20

aGth percentiie = 2;
acth percentile = 20

30th percentile = S,

B coth perceniile = 19
] ~mbila = . - . ' '
c o SZ?ﬁZﬁ?aiz Zio - ':;‘*:Oihim*z?ns term in the geometric ssquence.
D 3Gth percentile = 7 v 2400 .
gOth percentile = 20 A 1200
V2 OVRBE B_ 650 1260+ SO
250

i n below.

16  Find the arithmetic mean give
G e el I

dy1 ™ 3 2pe) T 4
B 21  For the series, find the number of terms.
?(Q\j " @ _32 5 q . 9 - s
: iﬁ __:__7 -+ -':" - L '?;'14” L{(l)‘f Lf(?/) 1 L‘(%)“
i | .
- 8 A 7terms Lf( ﬁ)
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D O9terms

22 Which grapn shows the function?

y=4cos -1-5 & ‘ _I__
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Simpiify the comple: fraction
x—j.? . What is 45° in radians? Express your answer in terms of «.
1 = X£3 &ﬁ@r'eés = @ any

::+_3.‘.X |+ 3x @ =z
Tox X ;ﬂ, ~ W
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B x+9 t/ D %’
4z
@ 3%+ 10x + 3 _L,t[‘E.\-.‘ £ l&) = ©
D not here 3 i“‘tﬁ" a }L{O

) fbdlans — d.eﬁa%
24 Which image corractly displays the asymptotes and graph of the function?
=3x+5

. 3= (=3x+5) Vorfiaal dsymptote
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25 The table shows the results of 2 survey of students in two math classes.
Find A(more than 1 hour of TV | 6th period class). Round to the nearest thousandth.

Yes No

3rd pericd class 11 6

6th period class ,@ 10\:;_\N .
A0S, g — >

(B) 0.565 P
? 0.435 2=

D 0765 LS 25
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below?

4" =& €O bX
A ¥y= --;— ccs[é x]
B _v.= —l-zcas{-% x)

(3 r-ieitd

D y-—ans(i— ]

What is the equation oi a cosine function w

P IEC
(Prox

ith the amplitude of 2 and the period given

(TP

g g

tﬁe vanables.

25 Evaluate the sum. 2¢ ML;it:ply State any rastnct]ons on
iz+2
Zf-ln-B) Y.r—3 T zi-i'zz:,,_; -i—- (24'2)(%‘/)
Ty : L‘.B_?) £ ' %.}.T" Z( 3
L' Y~-3 + 2+ : Zz+t
A o3 F A ZE et
B o1 US~3t -
c 1we Hb3F B o5 zw-h0 -3
90 - —
B @ L'{ l" 5 c f: § .ol -3
i(fg:gg‘)) =0 iFresin-y
%— Xﬁ:‘, ] +)
30 What is the graph of the ecuation? (\Z)\f\'\' *
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31 s the sequence arithmetic? If so, identify the common difference.

-2.4,9.8,22,34.2, ...

A vyes, 12
yes, 12.2
C yes, 123
D no
32 Which exponential function is modeled by the graph? ‘\V‘
‘L‘y :
. \@(5

0&,\5( ! -hw\

5—‘\0" \(j\ e)ces 5\0‘(\
0 ,
30 ¥

@ y = 052

- 2(0.5)*
C = (2-0.5)
D y = 2(5)

33  Find the range of the function using the natural domain.

i
j[x)-}—_—4+7

A all real numbers other than-7

@ all real numbers other than7
all real numbers other than—4

D all real numbers other thand

35 A set of data with a mean of 56 and a standard deviation of 3.3 is normally distributed.

34

Find the values that are 2 standard deviations from the mean.

A -66and62.6 6bf33-{-3,3

B 6.6 and 626
C -66and6.6 " 5L-3.3-3.5

49.4 and 62.6 -
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Simplify the rational expression.
X4+4x-21

24x-42
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b=“ac
35 identify the conic section. If itis 2 parabcia, give the veriex. If it is & circle, give the center
and radius. If it is an ellipse cra hvperbola give the center and foci.

k411+7y2\¥321 56y + 148 » O LfX 'f'%?.)( {.’7\_/ 5&} = —M‘Z

A ellipse with center (4, —4), foci at ¢ = NERES) 2
B hyperhola with center {~4, —4), foci at 4 - 4% ~'3) 2 2 -
@ ellipse with center (4, 4), foci at 4 A3, ‘:}— Y ()( + gx+@> +7(ﬂ __?\I - @)

D hyperbola with center (4, 4), foci at -4 4+ ~3)
= 1Y%+ LiUEH 7 G

Find the center and radius o the circle with the aquation ) 't‘ C

(x-57+ (y+6) =9
* ( ) | Use a crapﬁ’ng calcz_iat r"aﬁ’ﬁe functicn.

(B 6.0 B = 52— 3547
B (-5,6)0

Find the area under the curve for the domain below.
C (5-6)¢

-4sx=]
D (-586);3 (‘ W@ -g A 7L €square units €o0 e
\[’q’ —_ 3 mﬂh B 4€ square units A €
C© 3543 square units #

D 179i6 square units

Lower Li it
38 Each person in a group of students Iwas identified by vear and asked when he or she " L . _)
preferred taking classes: in the morning, afterncon, or evening. The results are shown in PP“?/'P wni

the table. Find the probability that the student preferred afterrroon classes Hweg hecrs
is a junior. Round to the nearest thousandth.

T .em('.

Freshman Sophomore Junior Senior
P ——
Mormning 18 2 { 6 16

Y

. . /)\
(| Afemoon O | 17 3 ( 3 \ 15
9

[

Evening 8 W 1,,.4
e oo+
057! [% Jurie Ok%emomﬁ- wnior

oo (i3t Junior®
QoY

40  Find the mean, median, anc mecde of the data sei. Round to the nearest tenth.
15,13,9,58,7,1,11,10,13,1,13

A mean = 9.3, median = 8, mode =13
B  mean=8.5, median=10, mode =13

@ mean = 2.3, median = 10, mode = 13 8
D mean=8.5 median=10, mode=8§



41

is the sequence arithmetic? If so, identi’y the common differsnce.

13, 20,27, 34, ...
ves, 7
B vyes, -7 44 Find any points of discentinuity for the raticral function.
C ves, 13 1-8
o e CEET (D)
42  Divide. State any restricions on the variable. 2 x= ;- x=7 yz-7 X7
c+lev €-2 x: ~ l/ -—'7
€~3 v~ 74 10 @x"tux-—'f o
_ D x=-1,x=7 ) [,|
e+l

A c-5%,c=52

(B e+1f=5D) C

C c+l,cm2-2

43  Find the n‘?egn and standard deviation of the data set. Round to the nearest tenth.
62, 37, 48, €7, 44,58, 47, 47 %

I'™ mean = 51.3; e . Y ..: __)S___ Nrb

standard deviation = 9.4 H ﬁ

Z
g Mmean=513; - 2)( X
mean = 47.5; oo 7
€ standard deviation = 8.4 '5X \/ - X H A '

~
\
o

\

X

standard deviation = 88.9
p ™ean=47.5;

standard deviation = 88.9

45 Descnbe the yegiical asymptote(s) and holin

I Zf/ —M
s g v
asymplote: x = -4andzh(ole x=2 )C/,’Ui )(‘f‘}) 6‘(/257 (w (?('t- { )

B  asymptotes: x = —4and x= 2 46 Divide. Staté any restrictions on the variable.
C asymptote: x = -5 and hole: x= —4 P2-16  Pisxe4 ?
D asymptote: x=4 and hole; x=-2 P45x46 -2x-8"
X (-4
A (E % =3 -1

X+ 3ix+ 1

l"}U\/\ZC“V\h{( 7 l XIL 8 (r+ 4z + l)
ASWWDIOIT S 7 {”/)4-2\3)
S y=l @r%u)z

1

q D m;x#-4.-3,-2,-1,4

~-3-214



47 Salve the equatior. CL’ECK the solution. Wh.m equation describss a parabola’?
\%ﬂ (‘9_(,‘_1 3_ g) (%,Z ;:..} f.'u--il
+ ! v 4"-“ = "y + 9 = U

4+ lly-~8x2-dx-2=19

% %9'{' ng "% Z \9 _53 -Zﬁf'loc =2x3 + 10x - 42 4 Bv = 2

-22 ij-—}l ‘f.—-’?ﬁflo
.| —Ya-32 QHO

43 A grocery sters will only accapt yelloicnicns that grs at ledst 3 in. in dizmetsr. A grower
has a crop of onions with diameters that are normaly distribtied, with 2 mean ciameter of
3.25 in. and a standard deviaiion of 0.25 in. of IE? onions will be accapted by

the grocery stora?

A 34% : | —
B 07.5% = \ W a—
C? 84% 98 2 3L> 25 315

" 50% L)

50 Which graph shows one cycle of the function?
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54 Evsluais t

Y\?@ 5(3)4"5 ‘1“’5( ) A

6(S) ro\b
c 210
185

®

53 Use a graphing calculator to soive the equation.

e Y1 = 3o ((13)X)

L&ﬁal' ¥
Dto 2 17 i 2 - %’
/jﬂeuﬂﬂ your answers in r&dians to the nearest hundradth.

A 121,435
™ 3.64
1.24,2.26,3.31,4.35,5.40
D 0.404, 1,452.5, 3.55,4.53,5.64

) 23, M
2: '[JJ"

55 Express the seriesé +4+6+8+..

a a3
A A

57 Evaluate theseries 1+2+4+810 3,

258.5 :
511 l Slo
1023
2047 - um 0 lsk
54  Write the following using 2> notation.
lﬂ+20+30+40+50+...+39l3+400
19
A 2o10G-1)
i=1
39
B 210t
§=-1
40
c X7
1

40
pML:

j=l

6

for 10 terms in summation notation.

1
2
a=-1,
0
B El(n +2) ‘ *j E . Whlch gquation modeis the transiation 3 units down of y = sin x?
‘1_\1' y = smx+3) \e{l}—3
C 4in yesnG-3 right 3

2l

i
D L

z=0

y-smx

Cg)

57  Identify the conic section. If itis a parabola, give the

yﬂ-4x+6y+29— 0

Y

A_ parabola; vertex (-5, 3)

parabola; vertex (5, -3)

¢~ parabola; veriex (5 4)
D parabola; vertex (4,3)

(y1 9

"%K\fm 5.

=( Y

\l"'+6 yta8l=

y=smx+3 WP D
, P
s

vertex. If it is a circle, give the center

and radius. i it is an eliipse or a hyperboia, gwe the center and foci.

ur><+(a)(+zq =0

4y e
N
+‘3\ = Hy-20

420

Aj7/o

v oa\L uosa=sldy
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3€  Use the frequency tatie. Find the orebability that & person goes o the movies at '»e:sig
times 2 month. Round to the nesrast thousandth. S

Trips to the Movies

‘ Nurmber of Movies Number of Moviegoers i
More than 7 movies per month 123 |
5~7 movies per month 133 _i!
2—4 movies cer monih | 265 1
Less than 2 movies per month 226
Total 747

ViE 3y
C 0.343

D 0687 -“" 1 = b
=4( )( |- l\

59] What is the following radisn measure in degrees? 82 olicit or recursive?
L} =T )

5 3 U([ Fina the first five terr‘.s oi the seq.lence
A 108s° A recursive; 1, -4, 16, 64, 256
B 37”0,, :H B racursive; G, =18, ~24, -8, -80

@ 108° explicit; 1, —4, 18, -64, 256
D 1.88° 2.0 '75 = explicit; 0, ~8, —24, —48, -80

60 What is the equation of a circle with center (-5, -8) and radius 27
Y RN TR A
]
(x+5):+(y+8)2u4 x-h + ﬂ-p o
¢ (x- 5)2 + (y—s): -4
D G+9'+ (y+8)"‘ =2

€1 Find the ennual DW that the equaticn rr"or.els
¥ = 0.35(2.3)
=.35(2.3)"
A 230% incrsase -
@ 130% increase

30% decrease - \ 3

D 65% decrease a .3 ""\ - %

3\;(.'0

.-lﬁ

|t
) - ¢

[ A
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64 Choose the exponential qutio‘n in the form shown for a graph that includes (1, 15) and (0,
6). use an - _
y = abx _‘__——Lﬁ“ exponenth f rEaVession .
@ y= 6(2.5): l ’g
y =30 0O b i
C y= 2567
D y-5(3)') ] I/H/n ‘ Y\ CW
Cridacy
ve center

65 identify the conic section. If itis a parabola, give the vertex. If it is a circle, gi

and radius. If it is an ellipse or a hyperbola, give the center and foci.
2

Bf—§f+48x—24y=0 CEX +%8%—(0Y‘2‘_.2:¢4!A’ = O
A erbola with center (3, 2), foci at 2 * 14,3 ' @
s ) (D)

~B—"ellipse with center (-3, 2), foci at 3,21 +f14)

_C—ellipse with center (3, —2), foci at G, - 2 D) ?( * ‘ -
4.-2)x+5\ 2 = gf@"_ GE’E’

hyperbola with center (-3, -2), foci at 3% Jia R
b(\f {-Z) =Yy g’

66 Identify the conic section. If it is a parabola, give the vertex. If it is a circle, give the center .
and radius. if itis an ellipse or a hyperbola, give the center and foci. %

xi4yi+Bx-4dy= -1l 7(1"[)?)0*@*(,()7’44&()#@7—([ {-@'f@

A circle; center (—4, 2}; radius = @ circle; center (—4, 2); radi-us =3
B circle; center (4, ~2); radius D circle; center (4, —2), radius = 3

(x+N+(n -2) =9
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57  Which recursive formula models the sequerce 8, 10, 12, 14, 18, .7 Find the next

@ c, = a,_;+ L wherza, =3 48
B &, =d,_,+2wherea; = 138
C a,=a, ;-2wherea =318

D

a.=a, ;- Lwarea; = 2, 50

68 In any data set, €8% of the cata falls within one standard deviaticn of the mean.

o: iways
(53 sometimes

C never p

- - 0‘ g L0
€9  The scores on an exam are ncrmally distributad, with 2 mean of 77 and a stzndard
deviation of 10. What percent of the scores ars greatsr

A 68%
(gj 16%

84% 1
D 25% g &

@ Find the exact value of cos 300° and sin 300°,

1

3 2
15 =3

CBS-E.Sm--—Z—- qo @
s

/G'/ccs= —5 . sin= 3 I

D
a

B I

1P 7— =9 N

D cns-%—_?'-,sin-_.% x C P

| G o L

CoS sin 2 5~
T (%

@ Find the exact values of the following. !

cus(% radians} COhV@(+ _ _;BI _{,.U AI%Y(){, S
sin[%‘zradians} ( Xl Vh\ \ ‘/I

._.
Ohy
A

™

_B—el o (__%%)"IS a0°
2
die N\~ [
A
}ﬁ%_% [ —?_b' {)
T3 | c

o
o i d)
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Vyhich graph shows the functicn? Tr
- r o E
V= 4cos -;— &8 —_ 4 _L 8 4 T
Intervel = COS 2z 2 P
Oto2x I
4 C e L 1 |
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74 Which recursive formula models the sequence 15, 26, 48, 82, 180, ...7 Find the next tsrm.

a, = 23, ) - 4 whers 2, = 15; 358

B a, =2a,-4 wherza, = 15; 356
C g, =43+11 22-1 wherea; = 15: 358
D a,=3a,_~15 wherea, = 15: 356

4 Non witl also m’aﬁ +o tviow The
Wargin of ervor ovmula,

mb '6_1. j"_ ._L
Vin



Solve ULQY\CO tihe @mp‘/\\had

caloulator, fom O +o 21T
Round o +he nearest hundredth.

2 cos TO =2

@ Add or Sulstuct. S.m,oh{-ba o possﬂo\{\

3)< . 6
x = Ktz

DescnbE  any ver con agtgmp-}‘a‘lf’(S)
of the graph ¥ = X "t bX

X —H
Fim\ ar\\/ PO\Y\'T'S ot OU'SCOV\‘HWM“H,O.
— |
B th
\/ X r—x-— @gzﬁ va&une\
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XE+ Xt X—b The parabo\
with vedex a

amd

Hx -2 % e 2K ‘the oigin
Y4+ ° X2 XA focuns (-3 0)

Sinphiby- €) Sdve.
2 10 _ b

—

Sux ”"'.,;Y‘ - X7 ax+q
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